
 
                      juk; 04  jkpo; nkhop tpilfs; 
; 

01. 1.rp  gp  jhopuk;  fy;rpak; 
2.Gspg;G Jtu;g;G ,dpg;G 
3.ney;ypf;fha; 
4.Jha;ikg;gLj;jy; 
5.itu];  gf;wPwpah                          (5*2= 10 Gs;spfs;) 
02.1tay 
  2.ePu; 
  3.Nfhd; 
  4.ctif kfo;f;fp 
                                         (4*2= 8 Gs;spfs;) 
03.1 Mw;wpNy Nghl;lhYk; mse;J NghL 
  2.fLF rpw;jhdhYk; fhuk; ngupJ 
  3.fhf;iff;Fk; jd; FQ;R nghd; FQ;R 
                                         (3*2=6 Gs;spfs;) 
04.1.Nfhgk; rpdk; 
  2.ngha; 
  3.Gwk; 
  4.khiy 
                                         (4*2=8 Gs;spfs;) 
05.1. ikjhdk; 
  2.Nehahsp 
  3.kUe;J 
                                          (3*2 = 6 Gs;spfs;) 
06.1.kl;Flk; 
  2.khtpiy 
  3.fw;ghiw 
                                          (3*1 = 3 Gs;spfs;) 
07 .1.nghd; + fhR 

2.G+ + mUk;G 
3.kuk; + Ntu; 
                                        (3*1 =3 Gs;spfs); 

08 1.thb tjq;fp 
2.my;Yk; gfYk; 
3.efKk; rijAk; 
4.Xb Mb 
                                       (4 *2 =8 Gs;spfs;) 

09 1.kyu; 
2.ghlfd; 
3.kiu 
4.khd; 
                                      (4*2 = 8 Gs;spfs;) 

10 1.Kw;gfy; 
2.,yq;if Nghf;Ftuj;J rig 
3.fpwp];JTf;F gpd;G 
                                      (3*1= 3 Gs;spfs;); 

11 1.mfTk; 
2.myUk; 
3.CisapLk; 
                                                (3* 1= 3 gs;spfs;) 

12 nghUj;jkhd thf;fpaq;fs; vOjg;gl;bUg;gpd; Gs;spfs; toq;Ff 
                                                (3* 3= 9 Gs;spfs;) 
nraw;ghLfSf;fhd Gs;spfs; 
01 (10 Gs;spfs;) 
02 (05 Gs;spfs;); 
03 (10 Gs;spfs;) 
 

  
                     
 


